
;+s]t g+= of]hgf tyf sfo{s|dx? of]hgf :yn ljlgof]lht ah]6 ?= >dbfg nfeflGjt hg;+Vof s}lkmot

10 cfly{s ljsf; 86400
1010 s[lif lq=g=g=kf= ^ 86400

jLp ljhg vl/b lq=g=g=kf= ^ 43200
kz' :jf:Yo lzlj/ lq=g=g=kf= ^ 43200

20 ;fdflhs ljsf; lq=g=g=kf= ^ 3479600
2010 lzIff lq=g=g=kf= ^ 432000

lgd{n Hof]lt cfwf/e't ljBfno eO{vf6 lgdf{0f lq=g=g=kf= ^ 86400
lj/]Gb| Hof]lt cfwf/e't ljBfno 5fgf lgdf{0f lq=g=g=kf= ^ 86400
l;tf cfwf/e't ljBfno zf}rfno lgdf{0f lq=g=g=kf= ^ 86400
hglk|o cfwf/e't ljBfno zf}rfno lgdf{0f lq=g=g=kf= ^ 86400
sflnsf cfwf/e't ljBfno kmlg{r/ vl/b lq=g=g=kf= ^ 86400

2020 :jf:Yo lq=g=g=kf= ^ 21600
:6]r/ vl/b tyf ljt/0f lq=g=g=kf= ^ 21600

2030 vfg]kfgL tyf ;/;kmfO{ lq=g=g=kf= ^ 2939600
d'ufvf]nf d'xfg e} yfKnf gfpnf vfg]kfgL lgdf{0f lq=g=g=kf= ^ 518400 s|dfut

kf+u|vf]nf b]lv ef/ufp dfemd]nf vfg]kfgL lgdf{0f lq=g=g=kf= ^ 1038800 s|dfut

l;uf/vf]nf b]lv l;uf/f vfg]kfgL dd{t lq=g=g=kf= ^ 172800
plQ;]g d'xfg e} d}bfgf ef/ufp vf=kf=lg= lq=g=g=kf= ^ 172800
j]?Nnf] vf]nf e} lkpnL vf=kf= lg= lq=g=g=kf= ^ 432000 s|dfut

dfemvf]nf d'xfg e} tNnf] lkpnL xflQ;f/ vf=kf=dd{t lq=g=g=kf= ^ 172800
/ftfk/ e} tNnf] u/fUnL v/kyf/f wf/f;Dd vf=kf=lg= lq=g=g=kf= ^ 172800
t';f/] vf]nL d'xfg e} a8fjg l;?rf}/ x'b} # vf]nL ;Dd vf=kf=lg= lq=g=g=kf= ^ 259200

2060 ;dfj]zLs/0f lq=g=g=kf= ^ 86400
blnt nlIft sfo{s|d lq=g=g=kf= ^ 17280
ckfª\ux?sf] Ifdtf ljsf;, l;kd'ns tflnd lq=g=g=kf= ^ 17280
dlxnfx?sf] nlIft sfo{sd lq=g=g=kf= ^ 17280
h]i7 gful/s ;Ddfg sfo{s|d lq=g=g=kf= ^ 17280
hghflt k|f]kmfO{n lgdf{0f lq=g=g=kf= ^ 17280

lqj]0fL gnuf8 gu/kflnsf 

gu/ sfo{kflnsfsf] sfof{no
vu]gsf]6 hfh/sf]6 .

lqj]0fL gnuf8 gu/kflnsf j8f g+= ^ cGt{ut cfly{s jif{ @)&$.&% df sfof{Gjog x'g] of]hgfx?



30 k'jf{wf/ ljsf; lq=g=g=kf= ^ 4752000
3010 :yfgLo k'n emf]=k'= lq=g=g=kf= ^ 2419200

lkpnL b]lv a8fjg x'b} sfof{no cfpg] 3f/]6f] af6f] lgdf{0f lq=g=g=kf= ^ 777600
k';'nL{vf]nfdf 9nfg k'n lgdf{0f lq=g=g=kf= ^ 1641600 s|dfut

3020 l;+rfO{ lq=g=g=kf= ^ 345600
u/fUnL vf]nf d'xfg e} u/fUnL v]t l;+rfO{ cfof]hgf dd{t lq=g=g=kf= ^ 345600 s|dfut

3040 phf{÷hnljB't lq=g=g=kf= ^ 1987200
sfkmnkf6f n3'hnljB't cfof]hgf ;fdfg vl/b lq=g=g=kf= ^ 1728000
;'wfl/Psf] kmnfd] r'nf] vl/b ul5{gf 86400
kmnfd] kf]n vl/b yfKnf 172800

40 jftfj/0f tyf ljkt Joj:yfkg 86400
4010 jg tyf e' ;+/If0f lq=g=g=kf= ^ 86400

j[Iff/f]kg yfKnf 86400
50 ;+:yfut ljsf; tyf ;]jf k|jfx / ;'zf;g 608269

5080 cGoq juL{s/0f gePsf] lq=g=g=kf= ^ 608269
;dk'/s sf]if lq=g=g=kf= ^ 178269
ljljw lq=g=g=kf= ^ 430000

hDdf /sd ?= 9012669






